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BES-0191S) : TEACHING OF SCIENCE 

Time : $ hours 	 Maximum Weightage : 70% 

Note : All questions are. compulsory. All questions carry 
equal weightage. 

1. Answer the following question in about 
600 words : 

Explain three domains of science with suitable 
illustrations. 

OR 

What do you understand by scientific enquiry ? 
Describe various skills which can be developed 
among learners through scientific inquiry. 

2. Answer the following question in about 
600 words : 

Explain physical properties of metals. Discuss 
how these properties are of use to the children in 
their everyday lives. 

OR 

What do you understand by 'Motion' ? Describe 
any two activities that you may undertake for 
enabling the children to understand the concept 
of motion. 
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3. Write short notes on any four of the following 

in about 150 words each : 

(a) Relation between Laws and Theories with 
examples 

(b) Constructivists' view on Nature of Science 

(c) Process Skills in Science 

(d) Steps for Planning Debate Competition 

(e) Physical and Chemical Change 

(0 	Electric Conductors and Insulators 

4. Answer the following question in about 
600 words : 

As a teacher you might have faced certain 
challenges to teach science to diverse learners in 

the class-room. Describe these challenges and 
discuss the strategies that you had adopted to 
handle these challenges. 
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